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General Instructions:

1. This Question Paper has 4 Sections A, B, C and D.
2. Section A has 5§ MCQs carrying 1 mark each

3. Section B has 2 questions carrying 02 marks each.
4. Section C has 2 questions carrying 03 marks each.
5. Section D has 2 questions carrying 05 marks each.
6. All Questions are compulsory.

SECTION A

If a pair of linear equations is consistent, then the lines will be

(a) always
coincident

(b) parallel (c) always

intersecting

(d) intersecting or
coincident

The graph of x = -2 is a line parallel to the
(a) x-axis (b) y-axis (c) both x- and y-

axis

(d) None of these

The sum of the roots of the quadratic equation 3x2—-9x+5=0s

(@3 (b) 6 (c) -3 (d) None of these

If o and B are the roots of 4x> + 3x + 7 =0, then the value of a x B is

(a) 4/3 (b) 3/4 (c) 7/4 (d) None of these

If the roots of px? + gx + 2 = 0 are reciprocal of each other, then

@p=-2 (byp=2 c©)p=3 (d) None of these
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SECTIONB

Solve the following pair of linear equations for x and y:

141x + 93y = 189
93x + 141y = 45

141x + 93y = 189
PBx + 141y = 45

234x + 234y = 234 ~|By adding
A1) (+ by 234)

= xey= 1

Again
141x ¢+ 93y =189
93x + M4ly = 45

48x - 48y =144 By subtracting

= x-y=3 (i) (+ by 48)
By adding (1) and (i), we get
x+y =1 A1)
x-y =3 A1)
2x =4 - x=2

Putting the value of x in (1), we get
24y=1

y=1-2=.] xw2 y=-1

2m

Im
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If -5 is a root of the quadratic equation 2x2 + px — 15 = 0 and the quadratic equation 2m

p(x% + x) + k = 0 has equal roots, find the value of k.

W have, 2x“+ px—15-0
SINCe (-5) 18 3 root a7 The given equation

22052 +p8)—15=0

+2(25) - 5p-15=0
= h0-14= p
9 -J:'-=.‘x:i-—$:‘~= 7oA i . 1m
Now, pix=+ X} +tk=px<+px+k=0
Here,a= =A :.
b =0..[Roots are equa
b dac-0
= 7y = a7k - 0=> 49 - 28k
- 40 =28k ~ k {4’ = i 1m
SECTIONC
The sum of the digits of a two digit number is 8 and the difference between the 3m

number and that formed by reversing the digits is 18. Find the number.
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9. Find the value(s) of k so that the quadratic equation 3x? — 2kx + 12 = 0 has equal roots 3m
A:- a0 2kx+12~-0
Homeas= b=2k =
o e -
2K — 4 Z )
—?'-r-|H='."—>}-.-=‘—:z=:§flt
~k= :f:\f% = 16 Im

SECTION D
10.  Draw the graphs of the equations x —y + 1 =0 and 3x +2y — 12 = 0. Determine the 5m
coordinates of the vertices of the triangle formed by these lines and the x-axis, and
shade the triangular region.
A:_ Given: « ‘.4' 0

x 0 BEIE 2m
1 2 R 1]
Now from eguation (i), we have
~ ¥

&=\
Whenx =0, thenny = ! o L 6

12-6
Whenx = 2, theny = -3

2

12-12

When x = 4, then v = 0

Thus, we have the fallneing wble of sodutions
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A:-

2m

A train travels a distance of 480 km at a uniform speed, if the speed had been 8 km 5m

per hour less, then it would have taken three hours more to cover the same distance

.Find the speed of the train
Total distance to be covered = 480 km
distance _ 480

Time = ——— =
speed x

Decreased speed of the train = (x - 8) km/h
Now, Time = -%
According to question,

4% -ﬁ = 3 = 480-1_-1 =3

x-8 x x-8 =x
= ago| =%+8| . 5 = 480 X 8 = 3x (x-8§)

x{x-8§)
= 3840 = W -Ur = W-2x-3840=0
= ¥ < Br-1280 = 0

Which is the required quadratic equation.

After solving x = 40 km/hr

*xx*xBEST OF LUCK****
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